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(1) 18z +1by (2) a+4b 3) 13m +mn 4) 14z —3y
(5) 13a —30b 6) —18z—2y (7) 8a (8) 9p + 36q
9) 15z%4+11z—22 (10) 34a*+ 35ab —24b*
(1) 8x+52zx+3y)=8x+10x + 15y =18z + 15y
(2) —4(6a —b)+ 25a = —24a + 4b + 25a
=—24a +25a+4b =a+4b
3) 29m —3n)+(—5m +Tn)=18m —6n —5m + Tn
=18n —5m —6n +7n =13m +n
4) 3(2z+5y)+2(4x —9y) =62 + 15y + 8z — 18y
=6z +8x+15y — 18y =14z — 3y
(5) 3(a—5b)+52a—3b)=3a —15b +10a — 15b
=3a +10a — 156 — 156 =13a —30b
6) 2(—b5zr+y)—42zx+y)=—10z+2y — 8z — 4y
=—10z—82+2y —4y=—182—2
(7) 5(3¢a —7b)—"7(a —5b)=15a — 35b — 7a + 35b
=15a —T7a — 35b + 350 =8a
(8) —3(p—2q)+6(2p+5q)=—3p+6g+12p + 30q
= —3p+12p +6q + 309 =9p + 36¢
9) 3(z?—Tzr+2)+4(322+82z—7)=3z*— 21z +6+122°+ 322 — 28
=32%+12z*—21x + 322 +6—28 =15z + 112 — 22
(10) 7(4a*+5ab —2b%) —2(5b%—3a?*) =28a*+35ab —14b*—10b*+ 6a *
=28a%+6a’+35ab —14b*—10b*
=34a®+ 35ab — 24b*
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